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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 297 365 409 774
AER1TH 1,037 1,202 1,296 2,498
EARI2TH 1,211 1,100 1,431 2,531
A R ET 2,267 2,370 2,610 4,980
BEBRT1TH 521 536 594 1,130
B EET2T H 412 429 484 913
B ERI3TH 317 374 352 726
BEBRT4TH 528 504 533 1,037
B EBRTSTH 834 931 950 1,881
I ER6TH 363 396 421 817
HiF = HT 526 616 656 1,272
45 KHT 453 537 539 1,076
HHT 1,000 1,146 1,258 2,404
BEHT 60 61 67 128
A K BT 630 750 759 1,509
7 HT 434 453 461 914
RICET 480 525 561 1,086
FORHET 199 215 232 447
RFHT 214 223 253 476
KHET 376 354 407 761
KET1TH 231 264 294 558
XKET3TH 283 336 321 657
XETATH 871 835 1,037 1,872
fit] LLI BT 2,335 2,786 2,893 5,679
JE LT 960 1,118 1,237 2,355
EHERT2TH 208 446 440 886
EHERISTH 423 544 551 1,095
EHERT4TH 354 424 469 893
EHERSTH 326 384 456 840
EHERT6TH 213 282 258 540
EHERT7TH 159 234 237 471
=Y:i 329 360 407 767
8 [F T 1,562 1,477 1,722 3,199
=i ET 495 543 616 1,159
2l 3t BT 473 624 587 1,211
=15 103 120 130 250
+HEFRT A 652 666 731 1,397
L EFHTER 838 761 842 1,603
L HAHT 2,075 2,339 2,481 4,820
LFH¥ABT1TH 73 122 122 244
LH¥\ET2TH 160 165 190 355




BT 4 HH 5 £ i
LFEI3TH 146 149 172 321
LF#ET4TH 157 165 206 371
LHABTS T B 206 275 289 564
I == HT 215 224 250 474
M=rET1TH 530 524 578 1,102
Mn=rET2TH 554 557 572 1,129
JO=fET3TH 425 440 411 851
M=rET4T H 1,117 1,145 1,184 2,329
I S5k T 586 611 685 1,296
I=F5di) 239 239 269 508
Jt B BT 30 39 40 79
E[d:) 416 380 382 762
478 = HT 786 923 985 1,908
FHRHET 76 90 99 189
1 2 FF T 371 432 478 910
BEFE1TH 86 106 114 220
BEFE2TH 272 329 339 668
T EHT 127 151 149 300
/A BB T 3,047 3,182 3,419 6,601
1R T 263 299 318 617
YEZF HT 744 763 810 1573
EXBI1TH 264 247 276 523
=/ LLIHT 237 176 134 310
Hh ek HT 27 27 5 32
T A EHET 10 12 10 22
THHEE1TH 701 688 729 1,417
THHEE2TH 523 590 565 1,155
THHEESTH 729 723 834 1,557
TEHE1TH 195 197 186 383
TEHRI2TH 808 778 893 1,671
T¥HEI3TH 165 176 183 359
TEHRI4ATH 83 84 94 178
TEEI5TH 234 243 262 505
T HAET 649 699 725 1,424
THABRT1TH 338 356 364 720
TET2TH 445 457 473 930
TH¥BISTH 197 205 240 445
TH¥ABRT4TH 154 154 179 333
HTAEHET 22 21 9 30
T 195 191 199 390
#8)11 BT 43 47 54 101
KT HT 300 321 352 673

e K HT 1,710 1,806 1,960 3,766
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HEZ HH 5 £ i
&)1 HT 260 329 322 651
XLAT1TH 868 859 1,020 1,879
XLAT2T B 306 344 363 707
X#ILET3TH 153 165 169 334
1 [ BT 49 67 80 147
hHET1TH 340 366 420 786
hHET2TH 448 491 538 1,029
hHEI3TH 446 539 527 1,066
niEld:) 255 251 288 539
th 2 JEHT 235 227 263 490
ch T 128 132 171 303
FRAHT 743 882 888 1,770
DiX /N 872 927 1,059 1,986
75 K ERET 782 1,004 1,039 2,043
75 2 [N HET 1,651 1,861 2,004 3,865
A 786 783 873 1,656
SFHEAT1TH 536 483 544 1,027
SFHEAT2TH 416 391 465 856
$FHEAI3TH 207 225 233 458
| BT 421 488 506 994
YHET1T B 370 464 496 960
HET3T B 345 391 423 814
RET4T B 119 113 143 256
J\ & T 980 1,102 1,150 2,252
J\HHT 168 222 232 454
+ A ERT 275 334 366 700
T A HT 2,405 2,564 2,710 5,274
THB1TH 22 25 20 45
THAR2TH 1,446 1,399 1,386 2,785
TAR3TH 186 176 178 354
THR4TH 375 315 390 705
TARS5TH 944 702 975 1,677
THRI7TH 333 380 430 810
T4HBISTH 379 423 433 856
THRBOTH 387 461 522 983
T4B13TH 304 349 387 736
AR NBHT 1,911 1,726 1,985 3,711
HARRHET 1,303 1,246 1,250 2,496
HEARK/ERET 283 378 400 778
HEARICEHT 161 170 183 353
HARKEHET 139 129 139 268
Z AR hHET 205 237 272 509
N 442 471 505 976
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HEZ HH 5 = 5
H AR EHT 324 366 401 767
HARE)IIET 285 279 311 590
HARE AH 114 128 140 268
FH AR JTHT 94 92 113 205
EARERHE 665 569 646 1,215
B K BRHET 384 412 408 820
Edsa] 879 912 1,021 1,933
BEFET1TH 756 752 772 1,524
BEFET2 T H 593 615 701 1,316
BEFETST H 343 412 412 824
AIFTET1T B 426 394 450 844
AIFTET2T B 570 607 671 1,278
AIFTET3T B 595 711 734 1,445
A HT 188 215 204 419
B LH 203 267 287 554
NER) 812 830 911 1,741
ERL 708 902 902 1,804
= HHT 1,703 1,964 2,082 4,046
HEXHRET1TH 572 651 674 1,325
HETIRET2TH 524 624 663 1,287
HLAREISTH 298 392 384 776
fx T 320 382 409 791
mERI1TH 1,182 1,146 1,322 2,468
mERI2TH 837 969 1,083 2,052
FA T 1,337 1,424 1,610 3,034
= RITET 519 508 557 1,065
= AHT 353 295 355 650
AR#HT 11 10 5 15
=) 489 580 546 1,126
SHA1TH 717 663 835 1,498
S HHET2TH 403 441 470 911
S HAI3TH 851 777 948 1,725
S HET4TH 786 685 895 1,580
E& T 2 2 0 2
J\BRET1TH 204 272 268 540
J\BRET2T B 251 265 238 503
J\BRET3T H 239 298 295 593
1T HT 289 443 432 875
FHEIBRT1 TH 142 168 177 345
FHaEIRT2TH 299 434 468 902
FIaIET3T B 11 24 16 40
ENDER1TH 0 0 0 0
EDER2TH 0 0 0 0
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